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Даны: функция u = f(x,y,z), точка А и вектор . Требуется найти gradu в точке А и производную в точке А по направлению вектора .

u = ln(3x + 2y2 + z3);                  A(-1;2;1);   
[image: C:\Users\дрю\Desktop\Снимок.JPG]
oleObject3.bin

image4.jpeg
ey, &) = L (3x+29% ¢ 2Y) ;

£, TpEgeans
_ 9 Pw Be)_ 2 4y 3w 31
grdlee = ( B,/’%'lg)' (swzgus Rl S
-2 (3'4 32) % 8 wowe A
3xt2grend O iR
Xm-i; y=2; B=2L, PRSP
e
) - A
7 [ = (353) (3:’3) .1'312
A
2. rpeBogins ke wampebasco Z2
4e2-—§~»2.

A(-Lape) £l -

C1,3,-2)




image1.wmf
l

r


oleObject1.bin

image2.wmf
l

r


oleObject2.bin

image3.wmf
.

2

2

k

j

i

r

r

r

l

r

-

+

-

=


